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In Questions 1-10 decide whether the equations are consistent or inconsistent,
they are consistent, solve them, in terms of a parameter if necessary. In eqch
question also describe the configuration of the corresponding lines or planes,

1 5x+ 3y =31 2 3x+9y =12
4x + 2y =25 2x+ 6y =15 ‘
3 6x+3y=12 4 6x—3y=11
2x+y=4 y=2x—4
5§ x+y+z=4 6 2x—y=1 7 2-+2y+4z2=7
2x+3y—4z=3 3x+2z=13 H+2y+-S52=12
X8y —13z2=8§ 3y 44z =23 dx+y+2z=14
8 3x+2y+2z=2 9 2x+y—2z=5 10 S5x+3y—2z=6
Skt 3y —4z=1 8x +4y — 4z =20 6x+2y4-3z=1

xX+y+4z=>5 —2x—y+4+z=-5 7X+y-1-82=12
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dx+y+2z= 14

T Xriy+42=7 (
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